/HIQIH SUYHQWIYR 36 &6 O33
-UXaHYDF 65%

= LVFLSILQD " HpDFL P "HILQ DI\ 3LRQLUL
SH] XD
1H1YDOLbOL IHNRUG 65% 2IYRUHQR 0$5.29,0 91DGDQ 3% 6GOH\
1H]YDQLQL UHNRUG 65% /(1E(5 ,YDQ 0=5 9UEDV 65%
1H]YDQLQL UHNRUG 65% 67-(3$129,0 9HLPL 3% 6KHIUG *%5
1H]YDQLQL UHNRUG 65% 67-(3$129,0 QHIPL 306> 6KHIG *%5
%RGRYD ),1$
5DQJ *RG 9UHPH %RGRYD
5%1"-(/29,0 6DQGIR 1V 1,
0,/29%$129,0 ODINR 6 1INRDD 1,
0,/(1.29,0 $HNVD 6 1INRDD 1,
5,67,0 6IHIDQ -DJRGLQD -$
3%$9/29,0 6WHIDQ -DJRGIQD -$
"-85,0 "IRUGIH 84lFH 8(
SHJIVIHUHG #R 3. =PDI $ISDPP  7X]ID 6HUDQLFD

6SIDVK OHHIi ODQDJHU %XLG



